
1) (4 x 48) x (5 x 64)

Answer: ____________

2) (2 x 22) x (3 x 27)

Answer: ____________

3) (4 x 73) x (7 x 28)

Answer: ____________

4) (1 x 22) / (9 x 3-2)

Answer: ____________

5) (8 x 96) x (4 x 9-1)

Answer: ____________

6) (1 x 97) x (3 x 23)

Answer: ____________

7) (6 x 9-1) / (6 x 3-3)

Answer: ____________

8) (5 x 74) x (9 x 36)

Answer: ____________

9) (3 x 57) x (3 x 52)

Answer: ____________

10) (2 x 13) / (1 x 3-3)

Answer: ____________

Total: ___ / 10
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Answers:

1) 1698693120 2) 3072 3) 2458624 4) 4 5) 1889568 6) 114791256 7) 3

8) 78764805 9) 17578125 10) 54
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